Material plots

* Upgr 15 geometry
e used geantinos*™
e -0.5<eta<0.5

* Rmin and rmax variables to select PXL, IST,
SSD, Beam Pipe independently or a
combination

*a Geantino is an artifical particle from Geant which is used as a geometrical probe.
It is only transported through your detector and does not interact with it.



PXL : Rmin=2.2cm Rmax =10cm
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IST : Rmin=10cm Rmax =16cm
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SSD : Rmin=20cm Rmax =25cm
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IST+SSD : Rmin=10cm Rmax =25cm
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PXL+IST+SSD : Rmin=2.2cm Rmax =25cm
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Beam Pipe: Rmin=1cm Rmax =2.2cm
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